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4. 2dHmPEERGEER/NEE_HREHEIRE--BR: 3F (KKREE 3F->3F)

[f&/8]: 3F [ERPriiE&FE]:3 MEFE: 4 -10cm/KEREMREE(HFT = BATEE)(O 1):PNA21-01 [XO:
+2805,Y5:+25]
X e ] (RS  E FE T &
N
INER: H B =(1)150.00%(H)304/10000=4.56 M2
B mmaE/ T (CRIOBREE O FI): 4.56 M2
s R s E A5 /e (FOBRBA O 1% ): 4.56-[F9%5BE M]0.00-[ & B []0.00+[%E 4} 1238]0.00= 4.56 M2

[#2/B]: 3F [EfRREME L2 B FHE: 6 -10cmsKBHRERFRRME (& &R )(O0 :):PNA21-01 [XO0:
+2375,Y5:-157]
Q] (P AR AT &
REZ:A
INER: H i =(1)245.00%(H)334/10000=8.18 M2
EfmifS i/ E (R0 O AT): 8.18 M2
s e s A5 /e (F0F&BA O % ): 8.18-[F9%BH M]0.00-[ & 3 B []0.00+[%E 4+ 1235]0.00= 8.18 M2

[#2/8]: 3F [EXfRRiE L2 B FE: 7 -10cmsKB IR ESfR RS (& & R)(O0 :):PNA21-01 [XO0:
+2403,Y5:-140]
B (1S Em i A &
N
INER: H S =(1)45.00%(H)334/10000=1.50 M2
BImEE Em A/ (RIREOED): 1.50 M2
i«‘wﬁu ﬁ%;/hd(#ﬂﬁ?l%ﬁl:l&) 1.50- [F'Elrglsﬁu]o OO[QEEFaﬁEI]O 00+[%E4}123%]0.00= 1.50 M2

[*EJE] 3F [EfRfEfEATE]2 AEFHR: 8 -10cm/KiERE fmME S (B &EmRM)(O 1 :):PNA21-01 [XO:

+1792,Y14:-220]
X e ] (RS T FE AT &
REE:A
INER 1 5 iE=(L)285.00%(H)334/10000=9.52 M2
EfmifsmaE/ N ET (R0 O AT): 9.52 M2
«‘BmF‘i;I ﬁ%;/hd(#ﬂﬁ?l%ﬁl:l&) 9.52-[M& i MA]0.00- [a FRA010.00+[£84}123%]0.00= 9.52 M2

[*EJE] 3F [ERfRREIEATE2 LB FHE: 9 -10cm/KIEMRE ARG (B &R )(O0 :):PNA21-01 [X0:+1755,Y13:

+248]
X iz ] (RS  E FE AT &
REE:A
INER1: FEE=(L)55.00%(H)334/10000=1.84 M2
EfmismEmaE/ N ET (CRI0BRFA O AT): 1.84 M2
«‘BmF‘i;I mall\d(#ur!?ﬁﬁm&) 1 84 [F'Elﬁsﬁu]o 00- [a FRA010.00+[£84}123%]0.00= 1.84 M2

[*EJE] 3F [EfRMEiEaTE2 & r“a-»’e;. 10 -10cmuKERER fmfEliE (B &R )(O 0 :):PNA21-01 [X1:+37,Y6:
+16]
EhmE (g ) miEst &
REZ:A
INER1: FEHE=(L)100.00*(H)334/10000=3.34 M2
BRI Em A/ (RIRBAOED): 3.34 M2
i«‘ﬁmfﬁu mall\ﬁ(#ulﬁ‘-l’aﬁl:u&) 334 [F'El%l’aﬁu]o 00- [é FA B []0.00+[£E411238]0.00= 3.34 M2

[*EJE] 3F [¥EfmREiE 48]0 A& F'EJE. 1 -1/2BIEE(/MEFFIE)(O 0 :):PNA21-01 [X0:+3272,Y15:-138]
BRRfE (RS miEst &
REx:1
N H 5 E=(L)264.96*(H)150/10000=3.97 M2
B fmAE /N at (RHIBRBA O A1): 3.97 M2
PRSI A/ ET (FOBREA O #): 3.97-[P1E5AA010.00-[ B B1BA M]0.00+[84} 127]0.00= 3.97 M2

[f&/8]: 3F [EfRiiE& 8]0 EF5E: 2 -1/2BEE(/MEAEIE)(O0 :):PNA21-01 [X0:+2955,Y4:+228]
% i ] (RS ) EFE R T
KEE:1
INERT: R E = (L)530.00%(H)150/10000=7.95 M2
BImEfE Em A/ (RIRBOED): 7.95 M2
KRk miE/ a0 O #): 7.95-[F9%F010.00-[ B B EI 0O]0.00+[%54+ #2]0.00= 7.95 M2
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[#2]28]: 3F [EXfmMEiE & a0 fAiERFH%: 5 -1/2BREf&(/ME A EHE)(O 0 :):PNA21-01 [X0:+2817,Y15:-145]
5 e (L D AR B
KEE:1
INER: FEiE=(L)250.00%(H)150/10000=3.75 M2
PRSI/ T (RINBRBA D A): 3.75 M2
SRR E A/ ET(FBRBAD #): 3.75-[FIE5 R 010.00-{ & F B 01]0.00+ (4841 1238]0.00= 3.75 M2

[#2]2]: 3F [E[mERE4TE]3 BRI 3 -10cm/KERE fBE & (EFTS mATEE)(O0 :):PNA21-01 [XO0:
+3172,Y15:+40]
iR (ER) miEstE:
KEE:1
INER1: FEiE=(L)60.00*(H)304/10000=1.82 M2
RS mEmia/ N st (RIOBRBE O F): 1.82 M2
SRR E /N (GOMRBIO %): 1.82-[F9E5BI0]0.00-[& 1B CI]0.00+{ZE4MEIK]0.00= 1.82 M2
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